50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

10CS54

USN
Time: 3 hrs
Note: Answer any FIVE full quesnons,%gélectmg atleast TWO quesiwns from each part.
@% 7 PART-A >
1 a. Define Database Manageme@t %§§rstem Write a note en Actors on the Scene and workers
behind the scene. i’%ﬁ (10 Marks)
b. Define Data Model. Wiite.a' neat diagram of Three hema Architecture. (06 Marks)
c. Define Logical an hféﬁ%al data Independence. ¢ (04 Marks)
) 3
2 a — level concept ta model in the database design process.
‘ (10 Marks)
b. Design an“E > R diagram for Unlversyy database. Consider minimum five entities and
mdlcate*@%ggmahty ratio. ‘%% (10 Marks)
3 a List unportant characteristic of Re‘i?hons 4 (04 Marks)
b. Which constraint is Vlolatmg for the below operatiohs.
i) Insert < ‘Arun’ , ‘K’ “Sharma’ , NULL, ’10 >, ‘m’ , 20000 ,
NULL , 4> into EMPLOPYEE.
ii) Delete the EMPLOYEE tuple with SSN@E?@ 23 ’ &
iii) Update the DNO of the EMPLOYEE«m g% ith SSN = 123. t%,l (06 Marks)
c. Consider the sg@@;gga given below and swer the Que‘ js?f using Relational algebra

operators. 3

EMPLOYEE (FN, ML, LN, SSN, Addre , B_date, Sex, Sa1ary, SuperSSN, DNO)

DEPARTMENT (Dname, Dnumber, MgrSSn, Mgr_ Sta"i‘% > date)

DEPT AOCATION (DnumbyDlocation) »6"‘5?} Y

PROJEET (Pname, Pnumbe, Plocation, Dnum) |

WORKS_ON (WSSN, PNO, HOURS) ¢

EPENDENT (DSSNj) endent_name, %, Dep_B_date, Relationship)

Retrieve the name, 4ddress, salary of em”‘loyees who work for ‘Research department’.

Find the names: of%mployees Who work on all projects controlled by Department

Number 4. W _

iii) Retrieve: the SSN ofall empl@ﬁ”és “who either work in department No : 4 or directly
superv%se an 1 employee who %Vork in dept number 4.

iv) Retrieve'the names of empl@yees who have no dependents.

v) Retrieve each department number, the number of employees in the department and their

average salary. CaY (10 Marks)
Write the syntax of the’following :
i) CREATE ==
ii) ALTER (la¥
iii)y DROP  +
iv) SELECT
V) %Sgﬁ&?f (10 Marks)
(o , 1of2
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Consider the schema in 3(c) and answer the Qu:
i) Retrieve sum of salary of all employees.

ii) Find all employees who were born during ¥
iii) Retrieve the names of all employees who d
iv) Retrieve the name of each employ
the employee.

v) Find the maximum and mi
department’.

working in ‘Admin
(10 Marks)

(10 Marks)
(10 Marks)

(10 Marks)
(10 Marks)

(10 Marks)
(10 Marks)

Explain four important pi (10 Marks)
Write a note on : "o

i)y 2PL i) ARIES. (10 Marks)




